Run 4/509 — Rate /kHz

HMS Cerenkov Trigger TDC

- F
= B AIHTRIGE 0T F B HMS >0 frack
- Bl pc>05 m4i Bl \pe>05
= B \pe>po B \pe>20
= 107
- 107
= ,‘HHHH}]HH ! (- O LI [T
0 1000 2000 3000 4000 0 1000 2000 3000 4000
HMS Cerenkov Trigger TDC HMS Cerenkov Trigger TDC
B ' HMS trock “34;* £ s frpeke
B NP E Bl \o<>05
- [ pe>0. B
. EEl \pe>20 “35; BN Npe>2.0
107
- 10 £
_ 1 b
E\ I ‘ [ \H‘H H\HH\H\ mﬂ\HHHHHHH‘ | E I — ‘ m_ﬂ_ﬂ_ﬂ_“ I ‘ I ‘ |
0 1000 2000 3000 4000 0 1000 2000 5000 4000

HMS Cerenkov Trigger TDC




10°
104
103
107

10

Run 4/510 — Rate B 1kHz
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Run 4/511 — Rate B 1kHz
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Run 4/480 — Rate b4kHz
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Run 4/481 — Rate b4kHz
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Run 4/296 — Rate 69kHz
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Run 4/245 — RO%@
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Run 4/246 — Rate 152kHz
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Run 4/192 — Rate 153kHz
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Run 4/26/ — Rate 216kHz
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Run 4/245% — Rate 306kHz
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Run 4/244 — Rate 30/kHz
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Run 4/191 — Rate 312kHz
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Run 4/48% — Rate 315kHz
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Run 4/482 — Rate 316kHz
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Run 4/266 — Rate 358kHz
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Run 4/29/ — Rate 390kHz
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Run 4/242 — Rate 498kHz
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Run 4/241
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Run 4/190 — Rate 536kHz
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